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1. Within 30 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that it
contains all the pages in correct sequence apddhat no page/question is missing. In case of faulty
Question Booklet bring it to the notice of the Supggintendemdnvigilators immediately to obtain a fresh
Question Booklet.

2. Do not bring any loose papegritten or blank, inside the Examinatidq Hall except the Admit Card.

3. A separate OMR Answgf Sheet is given. It not beffolded or Wutilated. A second OMR
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given on the first page of the OMR Answer Sheer.

9. For each question, darken only one circle on the OMR Answer Sheet. If vou darken more than one
circle or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be c!wnged. If vou do not wish to attempt a
question, leave all the circles in the corresponding row blank (such question will be awarded

zero mark).
11. For rough work, use the inner back page of the title cover and the blank page at the end of this Booklet.

12. On completion of the Test, the candicate must handover the OMR Answer Sheet to the Invigilator
\n the examination room/hall. However, candidates are allowed 1o take away Test Booklet and copy
21 OMR Answer Sheet with them,

13. { ancidates are not nermitted to leave the Examnination Hall until the end of the Test.
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(M) 18P/221L1£3 ('1/)

No. of Questions : i20
vy & et ¢ 120

Time : 2 Hours| [Full Marks : 360
WG 3 26 [qurta @ 360

L i

Note : (1) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for eack incorrect answer.
Zero mark will be awarded for each unattempted question.
i T R S e H| Tew 3 3 () 9% W
grE T v & (T v % @727 e | YeOE FEhid $E A
WIHT® Y77 ¥ |

(2) If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one.
7 wEfte fiys Iwm wh g % e wie w, @ Freeew @ Iw

(&

1. From the frequency distribution with open end class interval at the end , we
can calculate :

(i) mean (i) median and (iii) mode.
Choose your answer from the following codes :
(1) (i)and (ii) (2) (i) and (iii)

(3) (ii) and (iii) (4) Allthe three

s

el

o= 1 qgen @ A I Fgfh-a ® W

()ymez (i) @ (iii) TEETS
£ o w EE § | PR w2 § @ s Iw g
(1) (i) 3 (ii) (2) (i) 3K (i)
(3) (ii) 3 (iii) (4) wft it

(1) {Turn Over)
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18P/221/23 (1)

| BN
.

The average age of 10 people in a house is 40 years. When the age of a guesi
is included, the average age is increased by one year. The age of guest is

(1) 45 years (2) 51 years (3) 55 years (4) 61 years

o W i 10 nit A 3fed 3w 40 T @ | @ O Afafa @ owwoofm B w2
shea oy v T g weft & | Affy hi oy @

(1) 45=d '(2) 51 a4 (3) 55 (4) 61 7%

Which of the following is least for any data ?

me @B B, e,
o & @ @7 forelt ot sned & T =g gm 7
() (2) P, (3) D, (4) P,

For 10 data sets, each consisting of 17 observations, which of the following
1s true ?

(i) The combined arithmetic mean shall be the arithmetic mean of the
individual arithmetic means.

(i1) The logarithm of the combined gecometric mcan shall be the arithmetic
mean of the logarithm of individual geometric means.

(ii1) The combined harmonic mean shall be the harmonic mean of the indi-
vidual harmonic means.

Choose your answer from the following codes :
(1) Only (i) and (ii) are true.

(2) Only (11) and (iii) are true.
(3) Only (i) and (iii) are true.

(4) All are true.

(2) (Continued)
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18P/221/23 (1)

10 et & wyoat, wats 17 e ware, % o Poftfm da shagd 7
(i) mmﬁmwmm@m,mmmmi

(ii) Faforw o Tt % g W stwEG Ter, daw o T w5
TGO |

(iii)éﬂﬁﬁm-mdwmw,ﬁgﬁmmﬂml
Prrferfiee 2t & & o 3w g

(1) a= (i) ok (i) aea & |

(2) #Faa (ii) 3k (i) s ¥ |

(3) ¥a= (i) 3 (i) v ¥

(4) whgd

The statistic defined as the distance between 70th and 30th sample percentiles
gives us the information concerning

(1) Central tendency (2) Dispersion

(3) Skewness (4) Kurtosis

703 3f 30 & whwey wewe! % g g A wifa shonfie wRey o
(1) ¥ wgfa . (2) wEwm

(3) (4) e

| grafira goaT e

(Tirn Over)
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18P/22123 (1)

6. A reading test with maximum score 50 yields a bell-shaped synm:ctnc?:
distribution with scores ranging from 5 to 48 on a large sample of class 1!
students. If the same test is administered to class V students, the frequency
distribution is expected to be ?

(1) Positively skewed.

(2) Negatively skewed.

(3) Symmetrical and bell-shaped.
(4) Symmetrical and bathtub shape.

Fa 111 % oml F g wied W, sftean 50 STRIwET G I g, SR S

} 48 7% A i & T F veaER gafie 924 X | of oft when wen v ¥ o
F 2 At & @ AT ¥

(1) oo f{em

(2) =omews fm

(3) v 3 TR

(4) i 3l T F HE H
R Wl 2 |

7. If x and y are uncorrelated variables then this implies

(1) Theabsence of any linear relationship between them.
(ii) The absence of any functional relationship between them.

(iii) These are independent variables.

Which of the above is/are correct ?
(1) (i)only (2) Both (i) and (i1)

(3) Both (i) and (1ii) only (4) All -

(4) (Continuead
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18P221723 (1;

X 3ﬂty mtaﬁmat'i,a’tmvumigm%
(1 T dra = as gy T
(i) R A RS we T aE R

(i) @ w@aF W R |

IHEABRTE 7
(1) & (i) (2) (i) 3% (ii) 2R
(3) (i) 3k Giii) ZA (4) &

In order to fit a polynomial of degree 2, how many summations are to be
computed over 5 ebservations under least square principle 7

(1) 10 2) 4 (3) .7 (4) 16

feardiz axye = wwim F0 & o =raw @1 fag & s=rfa S Seil & e dmee
arffera 7 & 7

(1) 10 2) 4 3) 7 (4) 16

A data set containing paired values are shown by points in (X; ¥) plane, then
the corresponding diagram is known as

(1) Point diagram (2) Correlogram
(3) Dendogram (4) Scatter diagram
gfera Al @t ) el F e @ (X, 1) Ae W el g gnta mn &, @

p o T ynT (1) &=y
{3} FEmm {(4) Wil 3rE
& i3 =n wer 2

208 (Fiarn Dve:
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18922123 (1)

10. Ifthe regression line of ¥ on X is ¥+ 0.8X=25 and the standard deviations
of X and Y are respectively 3 and 8, then the value of the correlation

coefficient r is
(1) -03 (2) -04 (3) 0.3 4) 04

g X WY H a0 @ F+ 08X =25 2 3 X 3t ¥ & wew fawers
FOW: 3Ud 8 % A WEEEY M WA B

(1) 0.3 2) -04 (3) 0.3 4) 04

11. Suppose r is the correlation coefficient between two variables X and ¥
where standard deviations of X and Y are equal, If 6 is the angle between
the regression lines then :

147 1+

2r 1 &
2) secf= 3) cos@=——~ (4} sin@=ar’_
5 (2) By k ) o7 t4)sin8 -

(1) tand=

yH ST Qw0 X AR ¥ % e wewey s o 2 ReEd X o Y % s
e o v # 1 7R e Yt F dwwm w0 3, @

1472 1424 2 2
= {2) 5 () 080=2= (8) sind =122

12. For three attributes 4, B and C, given that, (z‘l)=(B‘)'-—*(C)--—-£ and
. 2
(ABC) =(ofy) the relation between (4BC), (AB), (AC), (BC) end N is

(1) (ABC)=(AB)+(AC)+(BC)-N
)Ef

2

(2) (4BC)=(4B)+(AC)+(BC)-
(3) 2(ABC) =(4B)+ (AC)+ (BO) - N
(4) 2ABC)=(4B)+(AC) +(BO) -

(6) {Continited)
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13.

14.

18P/221723 (1)

fdf ot orat 4, B 3R C% R, afz T &, (A)=(8)=(C)=
(ABC) = (aBy) , 7@ (4BC), (4B), (AC), (BC) ¥R N ¥ o9 gy #m

3N

ro | =

(1) (ABC)=(B)+(AC)+ (BO)-N
(2) (4BC)=(AB)+(AC)+(BC)- -:-
(3) 2(ABC)=(4B)+(4C)+(BC)-N
) A4BC)=(UB)+ (AO)+ (BO)-

la a series of houses actually invaded by small-pox 70% of the inhabitant is
attacked and 85% have been vaccinated, what is the lowest percentage of the
vaccinated that must have been attacked ?

(1) 62.3% (2) 64.7% (3) 68.3% 4) 711.0%

e 35w @ e feeh w & 70% Prawht S A o R T 85% N IFET
gm%,m%mﬁm#ﬁmﬁmwmm

(1) 62.3% (2) 64.7% (3) 68.3% (4) 71.0%

The joint probability density function of (X, V) is f(x, y)=exp{- (x + )},
for 0<x<« and 0<y<<=.

Assertion (A): P(X<Y | X<2))=P(X< .

Reason (R):X and Y are independently exponentially distributed which
possesses 'lack of memory property’.

Select your answer from the following codes :

(1} Both(A)and (R)1strue and (R) is correct explanation of (A).
(?) Both(A)and(R) is true but (R) 1s not correct explanation of (A).
(3} (A)is true but (R) is false.

(4) (A)is false but (R) is true.

(7) (Turn Over)

[ ]
gcollegedumas
India’s largest Student Review Platform

—



18P22123 (1}

(X, ¥) 1 Wy SR TR W f(x, y) = exp{- @ + 0}, 0 <x o
0<y<» &, i

I (A): P(X<Y | X<2W)=P(X<D.

W (R): X 3 Y weya: s aka € 9t ‘S e ' @ b
(1) (A)3M (R)3H 8 § 3t (A) %1 @ft =t (R) } |

(2) (A)3R R) A 77 & 3 (A) =1 wh wdior (R) T2 |

3) (A)ww & WA (R) w0 } )

(4) (A)FEa g (R)ww R |

15. The joint probability mass function of random variables X and ¥ is

XA ¥ \EmY
f(x.}’)" . - (1 p) '_l"'=0,1,...,x:xzﬁ,l..“,...
yix=y)!

The marginal distribution of

(1) X and Y both are Peisson.

(2) X and Y both arc binomial.

(3) X is binomial and that of ¥ is Poisson.

(4) X isPoisson and that of V¥ is binomial.

Tfeas T X AR V%1 65 Tiear 7T So
A:E-Apy{l = p)x-;- o

{X, )= =0.1L..xxe,
f(x,y) YT ) s oo 1 1 SR

2

(1) X 3R Y 3 % 3ura w27 e § |

(2) X ¥ Y X % 3y w1 B d

(3) X W39 527 fewe s ol ¥ o wwat @
(4) X F 394 92 amuai it ad ¥ = fRue @

(8) (Coniinye..
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18P221723 (1)

16. The joint probability density function of (X, ¥)is

for® =2 0<x<l, 0<y<x
=(); elsewhere.

The conditional probability density function

(1) folxIy=1/1-y) for 0<x<1 and zero elsewhere.
(2) fu(xl»)=1ix for y<x<1 and zero elsewhere.

(3) f.(ylx)=1/x for 0 <y<x and zero elsewhere.

4) fre(y]x)=1/(1~y) for0<y<1 and zero elsewhere.
(X, Y) #1 Gg WIiehal gcq $erd

fo, ) =2 0<x<], O<y<x
| =(); 37T |

yfvafa miswa o7 BeH

(1) fu(xly)=1/0-y), 0<x<] % e ot g2 3= |
2) Sl =1/x, y<x<] ¥ fe Mt 2 7= |
(3) fu(yix)=1/x, 0<y<x % I 3 3 3 |

(4) f,(xI0=1/(1-y),0<y<] & fore it v 3T |

(3 (Turn Over)
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18P/221/23 (1)

17. The joint probability density function of (X, ¥)is

ey y)=(+x)/4; |x|<], |y[]
=(); elsewhere.

Assertion (A): X*? and ¥? are not independent,
Reason (R): X and Y are not independent.
Select your answer from the following codes :

(1) Both(A)and (R) is true and (R) is correct explanation of (A).
(2) Both(A)and (R)is true but (R) is not correct explanation of (A).
(3) (A)istrue but (R) is false.

(4) (A)is false but (R) is true |

(X, ¥) =1 &3 SRaar g9 S

Sey(xy)=+x0)/4; jx)<), |yi<]
=0; 37
A (A): X2 ok V2 wmerafif
# (R): X 3R ¥V w@ea 3 # |
ﬁwmaa@iﬁﬁmmgﬁq:

(1) (A)W(R)ﬂﬁwim(ﬂ)wmmmn:
(2) (A)W(R)ﬁﬁmhﬂtmmmmﬂmm;
3) (A)FaRueg (R)wEx R |

(4) (A)¥w= R 9 (R)FA R |

(10) (Continued:
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18P/221723 (1)

18. X is anon-negative random variable.

Assertion (A): E(X)21/E(1/X)

Reason (R): 1/X is convex function of X.

Select vour answer from the following codes :
(1) Both(A)and (R)is true and (R) is correct explanation of (A).
(2) Both(A)and (R) is true but (R) is not correct explanation of (A).
(3) (A)istrue but (R) is false.
(4) (A) s false but (R) is true
X U Fgfeae = 8

st (A): E(X)21/EQ/X)

R (R): 1/X, X &1 Tk %o R |
Rrafrfgn el 8 & o799 IR g

(1) (A) 3 (R) 2 wen & ol (A) 1 & wdFr (R) R |
2) (A) 3R (R) 2 we ot (A) 1 vt et (R) 7 &
(3) (A)% R o (R) 3EA R |

(4) (A)IEA 2T (R)FA 2 |

(13) (Turn Over)
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18P7221723 (1)

19. F is the cummulative distribution and £, which is symmetric about zcro. -
the corresponding probability density function of a continuous random vanab
X. Which of the following statements are true for all choices of @ >0 7

(i) F(-a)+F(a)=1

(ii) PGX|>a)=2F(-a)

(iii) P(X|sa)=2F(a)-1

Choose your answer from the following codes :

(1) | Only (1) and (11)

(23 Only (ii) and (iii)

(3) Only (i) and (iif)

(4) Al the three

F s e we i/, S0t 0 3 3 R e 8, Rl W a2

G Sl wes B R | a> 0 F o weet ¥ R Pt e 3w
T

() F(-a)+F(a)=1

(if) P(X|>a)=2F(-a)

(iil) P(X|sa)=2F(a)~1
Prerfifos 521 3 @ o 3w gfie -
(1) == (i) ¥ (ii)

(2) %39 (i) 3R (iii)

(3) @& (i) 3R (iii)

(4) =oft &

(12) (Continuec
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18P1221723 (1)

20. If X and Y are two Potsson variates such that X~ P(1) and ¥~ P(2), the

21.

23.

probability, P(X+ ¥ <3)is

(1) 8.5¢ (2) 4¢3 (3) e? (4) 3¢
af ¥ afv ¥ 2 v@ i w R, Y- P(1) @ Y~ P(2), @ mifiea POX+ Y <3) vt
(1) 85¢3 (2) 4¢3 (3) € (4) 3¢

in hypergeometric distribution HG(N, K, n), if N = o0, %_; p, it reduces

to the following distributton :
(1) Gamma {2) Geometric
(3} Binomial (4) Normal

TR W 5 HGW, K, n) 3, 3R N > w, %ap,ﬁ%mm
¥ gretal B
(1) | (2) waifd

(3) fug (4) FER

For normal distribution, the quartile deviation, the mean deviation and standard

‘deviation are approximately

TETR 927 % R wgds faem, mer faee ok awe feem s a

‘3:5 (3) 10:12:15 (4) 1:1:1

2 | —

(1) 1:2:3 (2)

For exponential distribution with parameter 8 > 0, variance =mean if

uare 727 0> 0 YN ¥ R ¥E = wren ¥ AR 1
(1) 6>1 (2) 6=1 (3) 0<B<1 (4)9=§~

(13) (Turn Over)
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18P221723 (1)

24.

25.

26.

Mean deviation about the mean for normal distribution is approximately
AR W % ford W & wred farer @ @ A A

4
(1) o (2) 3o (3) u+o (4) p-o
The moment generating function of a random variable X is ( 1+3¢' }z /16, then
Xisa
(1) Bernoulli variable (2) Binomial variable
(3) Poisson variablc (4) Geometric variable

et Ao T X 1 sl o e (143¢') /16 8, A1 X @

(1) wich =} (2) e w3
(3) @rzaf =) 2 (4) waifidfig =1 &

If X and Y are independent standard normal variable, the distribution of
square of their ratio would be

(1) Normal (2) Chisquare

(3) t 4) F

e X 3R Y @6 g Jo W& @ I IR % A s o
(1) Tom= (2) =1 T

(3) ¢ 4) F

(14) (Continued)

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



27.

28.

29.

18P221123 (1)

The probability generating function of geometric distribution is

s wem & g iy sAw o R
p g re B
Wiz @Oy O O

If &(r) is characteristic function, which of the following is incorrect ?
(D) [¢(1<1

(2) &(r)is continuous everywhere on real line

(3) ¢(f)is real iff X is monotone increasing function of ¢

4) 0)=1

ae o(r) e G 3, A Prfiea § @ ¥R sm @ 7

(1 1éM<l

(2) () TR Ya W w

(3) o) Tt & 7@ SN Faw o 5@ X bR ol SIRSER
@) ¢0) =1

A symmetric die is thrown 600 times. then the lower bound for the probabi-
lity of getting sixes between 80 and 120 1s

wmﬁﬁéoommwt,?ﬁsoﬁ 120 9% R § wiwwn w =
iy 2

(1) 19/24 (2) 17/24 (3) 15/24 (4) 13724

(15) (Turn Over)
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18P122123 (1)

30.

31.

Which of the following is/are true ?
S : Poisson distribution is limiting case of binomial distribution
P : Poisson distribution is limiting case of negative binomial distribution
Choose your answer from the following codes :
(1) Both S and P aretrue
(2) S istruebut P is false
(3) S is false but P istrue

(4) Both S and P are false

Prefrfn da v s &/8 7
S : St ¥4, g9z de #1 dinig sE }
P : QW ¥4, RS 927 &1 Hinra s &
Iy I Fefefes w2 4 @ 3w
(1) Swwr P23 wwa ?
(2) STt WA P 3Ed §
(3) SyFRRegPEal
(4) STw P we §
In tossing of an unbiased coin four times, define E, : Getting at least two
heads and E, : Getting at least two tails. The events E and £, are
(1) equally likely.
(2) independent.
(3) mutually exclusive.
(4) both equally likely and independent.

wF i ol & W IoTel d, £, w9 R @ Q) 9l @ um o £

&wwwmwtmb A E, o
(1) woEemes § |
(2) mm
(3) wER swas # |
(4) wwEwER St TR a2 §
(16) (Continio
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34,

18P/221/23 (1)

<. Anunbiased coin is tossed until a head is obtained or the total number of tosses

is 7. The total number of possible mutually exclusive outcomes would be
(1) 7 (2) 8
(3) Lessthan 7 (4) More than 8

wmﬁmﬁmmmmmtmmﬁmﬁmmmﬁm
73 @ W | F dvE TR yvas oiomt 6 s B

(1 7 (2) 8
(3) 7@ ®m (4) 8% iy
In a university 60% students are male, 50% of the male students and 30% of

the female students are smokers. If a student is seen smoking, the probability
that it is a male student is

(1) Lessthan 0.5 (2) Between0.5and 0.6
(3) Between0.6and 0.7 (4) More than 0.7

et Rreaframers & 60% o Ton ¥ | qewwTt % 50% otk wiveTeERE @ 30%
T € | AR i or e W W e d @ aw B gevem §, © wiven
(1) 0.5 awm (2) 0.5 0.6% neg }

(3) 0.6 3 0.7% weg § (4) 0.7 % st &

Anum contains 'a' white and "5’ black balls. A ball is drawn at random and kept
aside without noticing its colour, Then a balil is drawn at random from the
remaining balls. The probability of this ball being white is

TH FOW ‘o' T A b Fh W vawm k| aRew w9 o g Pt et ol
e 3EE 1 2, R e et ) mm T R o e awfeew ww @
Praell ot Rt 3@ e % wikg w1 ) Wit @

1) {a~- 1M/ {a+b) (2) a/(a+b)
A (a- 1/ (a+bh-1) (4) a/{(a+b-1)

(17) (Turn Over)
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18P/221/23 (1)

35. Under usual notations,

36.

(4nBAC)u(CABAA)U(4nCB)
denotes happening of
(1) Atleasttwoof 4,Band C
(2) Atmosttwoof A, Band C
(3) Exactlytwoof 4,BandC

(4) None of the above.

gRied GRMER] % AT,
(AnBAC)U(CABAE)U(4NCAB)

(1) A B¥cigsndany

(2) A, B3R CH g sivwm R
(3) A, BalrCiadIw
(4) 39dw | | F§ T

1 B fAfde v R |
Which of the following defines probability 7

(1} Q=(0,x), AcQ, P(4)=0.I{ A s finite and P(4) = 1 if 4 in infinite.

(2) G={123,... },Agﬂ.P{A}:Z p(x) where plx}'-'-E\-'; : =1
xed i
(3) Q={i.23... .21 AcQ, P{A) =0 if A has even number of oiemen: o~

P(4}=11f .4 has odd number of elements.

4) Q={23456),AcQ, P(A)= Z Pix) where pix)= :;*} H=2IN56,
xed il

(18) (Contianed
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Praferfam & @ 2 Wi shonfya w@ b 7
(1) Q=(0,=), 4cQ, P(4)=0 R 4 §ftm 2 st P(4)= 17 4l

(3) Q={,23....21}, ACQ, P(4)=0 TR 4 3=gal ¥ s W@ |
A P(4) =1 uft A et & e e waar R )

b 4

(4) Q={23,4,56), A<, PA)=T, plx) T p)=25,x=234,56.

If f(xy)=e"" x>0,y>0,is joint probability density function of (X, ¥)
then P(X<2Y) is

R f(xy)=e"" x>0,y>0, (X, V) ¥ 9g% TREN 9" o R, @
PX<2y) 2

(1) 3/2 (2) 572 (3) 2/5 (4) 273
The standard error of sample mean is

yfedl mrea € A R 2

(i} 2%in (2) o*idn (3) oin 4) o/

(19) (Turn Over)
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39, Which one of the following is/are true for independent variables X and [}
S: X ~B(10,02), ¥~ B(10,0.3) then X + ~ B(10,0.5)
P: X~P(5), Y~P(7), then X+ ¥Y~P(12)
Choose your answer from following codes
(1) Both Sand P are true
(2) Sistrue but P is false

(3) Sis false but P is true
(4) Both Sand P are false

w o X @Y % R PR 3§ 3 9w 4/ 7
S: X ~B(10,02), ¥~ B(10,03) ® X+ Y~B(10,0.5)
P: X~P(5), Y~P(7), @ X+Y~P(12)

g I Prefefe w2 § @ gfig

(1) Salk P2t v &

(2) Sue ¥R P

(3) Symm sk pPoad

(4) SR Pt wm §

(20) (Continue
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40. If X and Y are independent exponential random variables with the same
mean ‘A, then the distribution of min(X, ¥) is

(1) 'exﬁoncntial with mean A/2
(2) exponential with mean 2)
(3) exponential with mean A
(4) Notexponential

M X 3R Y 9 A A A T i ages W & @ o (X, ¥) W 6w
2

(1) g A2 9ren urarh |
(2) =g 2 I UrATEh! |
(3) W™ A I HTATHI |
(4) wrarht &

41. A data set gave a 95% confidence interval (2.5, 3.6), for the mean 'y’ of a
normal population with known variance. Let p < 2.5 be a fixed number. If we
use the same datatotest H :pu=p, vs H 1p» p

(1) H, would be necessarily rejected at o =0.1
(2) H, would be necessarily rejected at o= 0.025

(3) For a=0.1, the information is not enough to draw a conclusion

(4) For a=0.025, the information is not enough but conclusion may be drawn

I T 9T O WA W & W p % o o arteer wner, 95% Rrvaraa
I, (2.5,3.6) 3 R | W 9 6 pu, < 2.5 v e wen ¥ | IR ww ot
N OHp=p, vs H i p o2 p & 55w & o swdm wa &, @

(1) a=0.1% H, J&EwFa: JEiga & |

(2) a=0.025T H, AEvHd: SEfiFa g |

(3) a=0.1% o, frewt e & R gon amaie 2

(4) a=0.025% fora, gom sogim R, o oft freed e asm R

¢21) (Turn Over)
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42. Let X~N(p,o°).Letboth p and o® be unknown

43.

@ ={{p,az]:—uﬁ¢y<m, o? >0} :
Null.hypothesis H, : jt < U, o > 0 where i is a known constani and the
alternative hypothesis H, :pu> p, *>0.
(1) both null and alternative hypothesis are simple
(2) both nulland alternative hypothesis are composite

(3) null hypothesis is simple but altemative hypothesis is composite

(4) null hypothesis is composite but alternative hypothesis is simple

'ﬂﬁX'-N(u,OR)ﬁa m aﬁ;ﬁimt@ ®=[(,u,a-2):-ccc;1-c:¢, 51}0}

YR = fEET H, i po<p, 02> 0 B, 9E p, w0 fRE R e g
uRewed T H, cp>p, 0°>0 ¥

(1) = 3k iR gt aieween e € |
(2) TR 3 =fRs 3 shwern fifda § |
(3) TR e s vE SR i fifie & )

(4) Y2 viwe fifi @ s vheeen ammo ¢

'p' is the probability that a coin will turn up heads and 'X* be the no. of heads
obtained in tossing the coin 100 time. For testing A, . p = 0.5 agianst
H :p<0.5at a=0.05and with X=45, the value of tast statistics is

firds ot ofrf a1 Y e 'p' 3, 3 100 3R fad = o it ) g
21a=005 M X=45Faa H :p=05 R 4 p<0: 3 Nwogvims
for wlteror wifead &1 ww Fen

(1) ~1.64 (2) -1.00 (3) -1.98 ($} -2.54

L

(22) {Continyed)
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44. With usual notations the condition for unbiased test is

(1) Sup P,(®) < Inf P{6) (2) Sup P,(8) 2 Inf P(6)
95@;, 95@1 BE@# GE@I

(3) Sup P,(8) = Inf P.(0) (4) None of these
8e@®, 0e®,

wafora g%al § g vdew 3 yfeay ovan d

(1) Sup P,®) s Inf P(8)  (2) Sup P,(8) = Inf P(8)
BE@# 95@1 Be@n GE®I

(3) Sup P,(8) = Inf P, (8)  (4) Vi & w7
0@, 0e@,

45. A random sample of 10 students were selected from a class. Their marks in
first semester and second semester is noted down. To test the hypothesis that
there is no change in average performance of the students of that class against
that it has improved, which of the following test is to be used

(1) y>-test (2) twoindependent sample f-test
(3) paired r-test (4) F-test

7% FG R 10 o W agfews sfied g w1 R | 39 wew ae @ R v
¥ aiwt @t Rrar v ¥ | Rl & oftaw weie & w1 o 16 § vl gun
za ¥ ¥ farg wheeen vlaw & fog, Fefefea & @ fea qhew = wad Ren

ST R |
(1) y? oheo (2) % an wiagd  r-wigw
(3) gfa (-vheo (4) F-giigm

(23) (Turn Over)
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46.

47.

48.

For testing H,:o?=oc,’ against H, :a* » o,? , which of the following test
will be used

(1) t-test ' (2) One tail F-test

(3) Twotail F-test (4) Chi-square test

H:o'=0c} & Wwg H :0 iaﬂi%qﬂmﬁaﬁqﬁtﬁﬁnﬁﬂﬁ;\q
qliaror 1 W@ R s

(1) t-vdam (2) H = F-giem

(3) f-g=8 F-wlam (4) F-at gt

A sample of size n is drawn from normal distribution with unknown mean and
unknown variance, which of the following hypothesis is simple

(1) H,: u<100, 6*=25 (2) H,: p=100
(3) H,:6?°=25 (4) None of'the above

TH n SER % WieH N AAM WG W I T A TN w77 7
2, ¥ @ ¥ oftwes v ? ) =

(1) H,:p<100, 6*=25 (2) Hy: p=100
3) H,:0°=25 (4) 3T 1} 2

The result : ‘Unbiased estimators based on complete sufficient statistics are
unique' is due to

(1) Cramer-Rao (2) Rao-Blackwell
(3) Lehman-Scheffe (4) Karlin-Rubin

;T‘?mmf&ﬁmmﬁamﬁmmmmgmm
™ .

(1) #-ta (2) Ta-=¥wa
(3) TRA-¥%H (4) Ffef-5fam

(24) (Continnea)
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49. 1f T, isaconsistent estimator of '0', then ™ is a always

50.

(1) Unbiased estimator of e° ~ (2) Consistent estimator of e*

(3) MVU estimator of €°. (4) None ofthe above
R -T..'B' F TF T e R, @ o WA @

(1) eﬂmmﬁm*mm ' (2) €W e FwES B
(3) e*® MVU aamm (4) 390w & & $H ff

Let X,X, X, bea random sﬁmple of size 3 from a population with mean
value p and variance o?, T, T, and T, are the estimators used to estimate mean
value 'p' where

=X, +X,-Xo, T,=2X43%,-4%, md 7=200500%
The best estimator in the sense of minimum variance is

M7 ) T,
@) T, " (4) None of the above

mﬂt&qﬁ:mm p R yEr o It el R @ 3 aeR W W anfeew
wieed X, X, X, ®17T,T, 3T, secm & 3w weg am ' % e
& fordt foman mran R, e

T=X,+X,~X, T,=22X,43X,-4X, ¥R 5=
=Y YO % 3 § Tad ST e I AR 7

AX + X, + X,
3

() T, @ T,

3) T, (4) 39T A T

(25) (Turn Over)
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51. If X,X,,..,X, ar¢independent and identical variates from a density function

£ (x, ©), then the Crammer-Rao bound for the variance of an estimator 7, of

() is given by the following inequality

R X, X, ... X, TG f(x, 0) T T0A A N E T 2(0) ¥ ok
mf‘_ % wrw & forg B-Ta et P vt g fran s 2

[Fof

(1) ¥(7)2

a 2
"E[EE log f(x.a)]

[r@]
al

—=log f(x, 9)]

@) %(T)2
”5[391

)
. E d? log f(x,6)
08*

()

0
E [é‘@.’z’"l“g f (x,ﬂ)]

Ceinued

*
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52, Atest T which is at least as powerful as any other test of the same size for all
values of the parameter under alternative hypothesis is called

(1) Best test
(2) Most powerful test
(3) Uniformly most powerful test
(4) Noneofthe above

T e 7 S i Awfeve aieea & sreria wree & wft o & Rig, w9 @ w0
3o Tiwareht ® R 99 SRR A o i, wwer X

(1) wass ghegw
(2) wd ufwareh Thaw
(3) wWE B4 A g9 gl g

(4) I 3§ A B T
53. Atest T for which maximum risk under A and H, is not more than the maxi-
mum risk of any other test T'* under H and H,, is called
(1) Anunbiased test
(2) Uniformly most powerful test
(3) Anadmissible test
(4) Minimax test

H, @1 H, & vt @& whew T fogst sftseam sifew B, a0 H, & s=ofa e
s gl T+ % siftewan sifem & i 7 R, wwemn

(1) = g gigm
(2) @g™ ¥ ¥ g4 wieemeh vlaw
(3) us gr@ viEm
(4) faffew e

(27) (Turn Over)
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54. The ratio of the maximized likelihood function under H, and under the entire
parametric space, is called

(1) Probability ratio
(2) Sequential probability ratio
(3) Likelihood ratio
(4) Monotone likelihood ratio
H, & sr=uta wn weql wrae s0m & st st o o s, wwem
(1) g sgam
(2) s s ST
(3) T AT
(4) THeT TR I
55, Sampling error occurs in
(1) Sampling only
(2) Complete enumeration only
(3) Both in sampling and complete enumeration

(4) Neither in sampling nor in complete enumeration

wferam e g @

(1) %ae vfesga §

(2) ¥Faw dqof o

(3) wir=am aun §qul womn 2
(4) A wfeaga ¥ 7 & aqot o |

(28) i 1mnieped)
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56. 1f the sample values in a sample of size 5 taken from a population of size 20

with SRSWOR are 1, 2, 3, 4, 5 then the unbiased estimate of variance of
sample mean will be

FRSRSWORﬁﬁmzom%mmﬁ%qwsm%Mﬂm
TR 1,2,3,4,5 8 a wfoee e & wao w1 sfee streers B |

(1) 0.07 2) 0.05 (3) 0.375 4) 1.5

57. From a population of size 25, a systematic sample of size 5 is drawn. If the
first unit selected is 3 then the other units will be

25 STHR F TR W 5 HN F Fwag Wy W R @ ) IR vow v
3 8 A s gl )

(1) 83,1823 (2) 8121520 (3) 10,12,1422 (4) 10,15,17.22
58. Ifthe values of S7 for all the strata are same, then
(1) V(Fu)g =V () 2) V() >V (P ) g

3) V(Fu)a <V (T @ V(Vu)g =V (P

where V (5, ). s V(7a), @9 V(¥),,, denote the variance of stratified
sample mean (,) under Neyman allocation, proportional allocation and
variance of sample mean () under simple random sampling.

gk §* =1 e aft W & fore s E At

(1) ¥ (Fadng =V (VDo (&) Fll ) >F0),

(3} V(j;ﬂ)my (V(j’-ﬂ)m (4) V(J—}H)Hq = V(y)us

T (Fadug s ¥ (Fu)y T V() 0 Tl sioeet wrea & 3 Fraem,
st e % i wew, 3 ufaed mer (7) & wew @t el s d

(29) (Turn Over)

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



18P/22123 (1)

89, In sample surveys, by choosing sample size properly, we an control the

following to its minimum level

(1) Only sampling error

(2) Only non-sampling error

(3) Total of sampling error and non-sampling error
(4) Neither sampling error nor non-sampling error

whvet gl #, wfrgd amen ¥ wgfm o g, W e @ T e oA
Prafaa & g

(1) Fae wioaza R =
(2) ¥Faw s IR =
(3) R 3R ik sefea 3R F1 A
(4) =@ wfawga 3fe 7 & swfesaa R

. In a survey from a population consisting of N = nk units, a sample of »

units is selected with a random start between 1to & and then selecting every
i un:ssertion (A) : The variance of the unbiased estimate of the pepulation
mean cannot be estimated.
Reason (R) : No unbiased estimate of population mean exists,
Select your answer from the following codes :
(1Y Both(A)and (R) is true and (R) is correct explansation of (A)
(2) Both(A)and(R)is true but (R) is not correct expianaiinn of (.2
(3) (A)istrue but (R) is false
(4) (A)is false but (R) is true

( 30 ) ;_. "fh'. i .i'll'{.’;j 3
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N = nk sl w@d o fdt auf® @ wdaw o, n a1 o wived, ek k
% 7eq freft afeos yow ol AR vl@% &3 v T R, s i e @

T (A) : waft T F onfn Ao # YO e Tl R @
gEar k|

FO (R): W Wi & A e 1 S e Tl d |
Prferfes 52t # & o 3w g
(1) (A)3M (R) 3 & & 3R (A) 9 v =avew (R) }
(2) (A) 3 (R) 3w & g (A) $t wéis = (R) T R
(3) (A)F= Y wg (R) 3w}
(4) (A)¥wa g (R) e}
If the coefficient of variation of the study variable ¥ and the auxiliary variable
X inapopulation are 18 and 32 respectively, then for what range of the coeffi-

cient of correlation p between X and Y, the ratio method of estimation will be
preferable over sample mean ?

(1) p<0.63 (2) 0.33<p<0.80
(3) p>0.63 but less than 0.85 (4) p>0.88

af2 feelt wufd 8 srerafia =t ¥ ol wes s X w1 s o e 18 ol 32
ER X 3R Y & vy wegmy e p 6 e dm ¥ g e i s
ARy ufdee arer w egeofta Sft 7

(1) p<0.63 (2) 033 <p<0.80

(3) p>0.6370.858 % (4) p>0.88

(31) (Turn Over)
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. T

62. A population consists of 6 units (g, b,c,d, e and f)anca oot 0
selected by simple random sampling with replacement. @ r.: ~:anabuity tha:
units g and b are in the sample is

w w6 W ( g, b, ¢, d, e 3 fw@m ¥ o wEiT= s
s g 2 3R w1 % S wafa fem e @ ) sfies § sagwt o oa
F v 6 sl wnft

(1) 13 2) 19 (3) 1/18 (4) 115
63. Two types of effects measured in a factorial experiment are

(1) Main and Interaction effects (2) Simple and complex effects

(3) Both(!)and(2) (4) Neither (M ror 5

T agIaert s A e 2 e % e A

(1) &3 9 J=a=afng wmEl 3 (2) BT T Wi a2
(3) (1)3 (2) 3 (4) ()7 (2) 2 2 24 =3

64. When p be the level of the factor 4 and g be the level of the factor 7 i~
case of two-way ANOVA with one observation per cell. then what w il! be the
degree of freedom of error sum of squares ?

mm ﬁ T am aTé Eﬂ'ﬂﬁ ANOVA ﬁ, g I 4 oS ooy n Ree I
H R g T IR T AW F @em w2 =0 A 7

(1) (pg-1) (2) (p-1j(a-

(3) plg-1) (4) glp- i)

(32)
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What is the critical difference (C.D.)) for an i
. D. Y two columns with 4 fi
having k categories ? o

k Aoft &1 A FH & 79 felt 2 afs %1 e s (C.D.) w1 8w 7

2MSE

() I{H){h“(afz)JT (2) f{n-lxt-u(ﬂ'J'Z).J—-—szE
2MS

(3) Lpa-n(@/2) _E'E (4) l'u'l--nlu-n(“”2)4 I?E

What will be the error degree of freedom in case of 8 x 8 Latin Square Design ?
8 x 8 @fw ot siftverewan # qR? =1 @ FR = wm 7

(1) 41 (2) 42 (3) 64 (4) 43

What is the number of basic principles of Design of Experiment and which
oneisnotusedinC.R.D?

(1) 2, Local Control (2) 4, Randomisation
(3) 3, Replication (4) 3, Local Control

ST & Afrweg # g fagrt ) wen 7 R ok CR.D 9% w7 s
g7

(1) 2, ®rEE s (2) 4, FRFewm
(3) 3, gFugh (4) 3, =g =

(33) (Turn Over)
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68.

69.

In a statistical model, errors are always taken {0 be

(1) Independent (2) Distributed as MG, o 7
(3) Both(l)and(2) (4) Neither (1) nor (2}

v% wifegdra uiza 3f2 = a¥a 7 e }

(1) == (2) M0, o ?) %1 uffa afea
(3) (1) (2) 4 (1)a )4 =i ¢ wdf

g, is the probability that a person of exact age x years will dic before reach-

ing age x + | yearsand m_ is the probability that a persor: belonging {o the
age-group x to x + 1 year will die while in that age-group, then m, is ap-

proximated by
(1) ¢,42-q) (2) 2¢9,/2-q)
(3) ¢,/2+gq,) (4) 29,12 +q,)

of} wéw amg x ad F e =it & g x + 1| W W ¥ @ 5 8 awh, §
i g % o gl x A x+ 1 o 7% F Rt =fs B gy 3 gt &
2 wrft, S m, 1R m

(1) ¢,/2-g) (2) 29,42~ ¢q)
(3) ¢,/2+¢q) (4) 29,024 4
zr whaes e s 2

(34) Comtinued:
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tor a stationary population

1) The overall birth rate must be less than death rate but these must remain
constant.

(2) The overall birth rate must be more than death rate but these must remain
constant.

(3) The overall birth and death rates must be equal but these must remain
constant.

4} The overall birth and death rates must be equal but these may not remain
constant,

TR SEe % g

(1) wowed A F=7, G & W et =iy wog v R e i |

(2) wwEEY § IR, g A e g iR vy W R v iR |
(3) THEEY ¥ TG, GRgeX & qUSK A RY W wn R e =i |

(4) TR ¥ FE, TR & T BeT wniee vy 3 fln ol oft v v §
Which of the following shows that how many children would be born to 1,000
women if none of them died before reaching to the end of reproductive

period and if all were subjected to the observed specific fertility rates
throughout this period ?

(1) Crude birth rate (2) General fertility rate
(3) Tota! fertility rate (4) None of the above

frer 5 @ A vk & B 1,000 sl R Fra 7= AN, AR W A B
T ¥ o o & T wd o afl e S et ¥ o o 2

1y STTRE IR (2 T JETETe
5) W IEEE 4) Todew @ w TE
(35? (Turn Over)
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72.

73.

Which of the following is not method of construction of abridged life table ?
(1) Pearl and Reed method (2) Reed and Merrill method

(3) King's method (4) Greville's method

fa # @ ¥ e Siee anoft & fwin 6 &y o § 7

(1) wet 3l G fafw (2) {w s i fafy

(3) & fafu (4) ffem i ffy

Which of the following is not correct interpretation of L_ of life table ?

(1) Itis number of years lived, in aggregate, by the cohort between the age x
and x+ 1. |

(2) Itis average size of the cohort between the age x and x + I,

(3) Itis total number of years lived by the cohort after attaining age x.
(4) Itgives the age-distribution of the life table stationary population.
P & @ # sffaw wroft & L aft sarem i @ 7

(1) gm;’ramﬂ(ﬂmi)mx M x+ 1307 % 9, gt Im &, fR o ael
e R |

(2) ¥ STEEEEt (%ig) & x 3R x + 1 3y F Ffw F sitww srww R )
(3) @ wEETET (FE) F x g THIT R M0 g a9 A en ?
(4) T& e ol et e Wy W F oA R

(36) {Continued)
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74. In a continuous flow of manufactured products, by process control we mean
that |

(1) Allthe goods produced are of exactly of same quality.

(2) Variation in the quality is due to assignable causes only.

(3) Varation in the quality is due to random causes only.

(4) Variation in the quality is due to both assignable and random causes.
Afifa 3earel % felt waa wame o whsm faao g waw T & %

(1) ail 3enids sxqd §&F Tam o 6 #

(2) T ¥ gitadq Faet e wnoi @ §

(3) e § uREd Faw aRfEes wwon @ §

4) o | oRads fafa of afees o= s a2 )

75.  Which of the following is/are true for product control ?
S : The proportion of defective items being manufactured is not exces-
sively large.

P : The lots of the manufactured items do not contain excessively large
proportion of defective items,
Choose your answer from the following codes :

(1) BothSand P are true. (2) Sistrue but P is false,
(3) Sis false but P is true. (4) Both Sand P are faise.
efn Frimn % R e 3 @ R T 248 7

§ : I i A arelt deqet aRga w euE sl am R )
P Ieied Y I At awgait & 0 el et w1 e ww s A

wa g
24 e Pl w2t § 3 5Re
tr SERPEHIFRE | (N CEmAgPIEAR |
3 SHER AT PIAR R | () S Pt ama £

q L)
(37) (Turn Over)
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76.

77.

78.

Process control is carried out

(1) before production (2) during production

(3) after production (4) anytime

witwar Fraam

(1) e & g (2) Sz & T

(3) I F TEE (4) forelt oft Ty

wraitaa s #

The statistician who invented control charts for use in industrial quality

control was
(1) Deming (2) Taguchi (3) Pareto (4) Shewhart

a8 wifeehtaz, Ry e o fraw & W % o Pdam-ard ) aw
#, |

(1) fm (2) e (3) tR (4) ¥fraré

In the theory of time series, shortage of certain consumer goods before
annual budget is due to

(1) Irregular variations (2) Cyclical variatione

(3) Seasonal variations (4; Seccuiarirend

Fret Aot & frgra f wET w9 F T8 FO R FE 40 S T B
(1) afim gfads (21 S T

(3) #gie sfEda (4) drmre v
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79. Graph of time series is called

(1) Linegraph (2) Historigram
(3) Trend (4) Histogram
w1 Aft % T e e
(1) Y& (2) wEwRiE
(3) Tt (4) frdam
80. Amixed model of a time series with components 7, S, C and [ is
F& Aot & wemt T, S, C ok 1w fifdym wiew &
(1) I=YxCxTIS (2) Y=T+SxC+I
(3) Y=T+§+C+I] (4) Y=TxSxCx/[

81, Which of the following statements is correct ? Here notations have their usual
meaning,
Prerfrfrn ot 3 @ W9 we ¥ 7 qu] o ot water o e ¥

/
/ })m-‘II =1_r-‘}'o'-'¢a]'
u]) P:ﬂ Vm
pla r oo,
ay ez ]d
Loy P"ﬂ I,F
fo4 B Londll ot 1508

(35) (Turn Over)
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82.

83.

On a downward-sloping linear demand curve. totai revenue wouid be maximum
at the

(1) midpoint of the demand curve.
(2) lowerend of the demand curve, 4
(3) upperend of the demand curve.

(4) Itisimpossible to tell without knowing prices and quantities demanded.
I Freh e win 9% W, wwa v sfteaw B

(1) ¥ a% & weafag w

(2) uim & fa R w

(3) #MaF & IR R W

(4) wtft R A i el 9 I fa A e A R

Engle's law states that
(1) Asincome grows, the proportion of income spent on: food tecregcas
(2) As income grows, the proportion of income spent on food increases,

(3) There is no effect of income growth on proportion of income spent on
food.

(4) Asincome grows, the proportion of income spent on food first HICreases
then decrease

o fmaam t

(1) ¥ 30w §, TR W gm0 o 359 00 nmes -

(2) R I T R, GR W AR qE W A o wam o

(3) 97 FEt W AR W TS G ok FR, R s s e b
(4) W8 96 T R, U W AR AR e 3w F7E TE w0 Famm

(40) ‘Loeninued
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¥4 The price elasticity of demand of a commodity is 22 1f the

&5,

| (p=-1p+2)
quantity demanded is 8 units and price is ¥ 2, then demand function is

Rttt T & Al &1 gew de P | 7R ot
= WiNpags | e RIS

T 2 W, o ul wem v

- (P"l) :-..2..(.{):—2—).

W) * =5 p+2) (@) **7p0)
_(p+2)

(3) x=(p-D(p+2) . @ *=0)

Fisher's index number is 1deal, because it satisfy
(1 Chrenlar test

'2)  Oely Factor reversal test

(3) Only Time reversal test

{(4) Factorreversal test and Time reversal test both

RHYR 1 YT e R T Al T® FE T R

(41) (Turn Over)
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86.

87.

Ina Linear programming problem, if dual has an unbounded solution. primal has

(1) no feasible solution (2) unbounded solution

(3) feasible solution (4) None of these

e o T #, AR R & o 0 ol ww f @ wefi & o
(1) #r gvT gamyr T (2) & game

(3) W FwTH (4) ¥ R i ft

Which of the following methods is used to verify the optimality of the current
solution of the transportation problem ?

(1) Least cost method

(2) Vogel's approximation method
(3) Modified distribution method
(4) All ofthe above

TR # T F A TR 6 IO H @R = F R B F @ e
ot vt 1 Iam e k2

(1) =9 @mre aren fafy
(2) IrE F g fafy
(3) wwmfim famo fafy
(4) I90 ot

(42) (Continued)
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88. The Hungarian method for solving an assignment problem can also be used to

89I

90.

solve

(1) atransportation problem

(2) atravelling salesman problem
(3) both(1)and (2)

(4) only (2)

(1) U= vitaws ooz
(2) = 3 e we

(3) (1)aw (2) Fm

(4) & (2)

Let A be the forward difference operator with interval of differencing to be
one. The value of A*{(1+x) (1-3x) (1+5x)} is

MR A o s e R R s v

A {(1+x) (1-3x) (1+5x)} = o=}

(1) -6 2) -15 (3) 15 (4) =90

If A is forward difference operator, then under the consideration of 'differ-
ences of zero', the value of A*(° is

MR A I SRR ToE A WY F R wren F o A2 0° w A b

(I) 6 2) 3 (3) 1 (4) 0

(43) (Turn Over)
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91.

92.

For a given set of values (x,f(x); i=1n) of argumenis and entries, the
inverse interpolation is used to obtain (in the given range of values), the value
of

(1) f(x,) corresponding to given x,
(2) x, corresponding to given f(x,)
(3) Inverseof f(x,)

(4) Allof the above

foi R Pt @ WRRE & =R (5, £(x); i=1,n) g0 (A R mt ) e o),
e SR w1 yam Prefafea 3 @ fege o= m w0 & B fen o b

(1) f(x,) & W, IR g x, # 7 a1 A
(2) x, ¥ %W, IR wE@fw f(x,) @ Raa

3) f(x,) % g&FH H AH
(4) IgUw

k

Given f(0)=1 and f(1) =3, then the value of integra: f f{z)dr, using

Trapezoidal rule, comes out to be

o & £(0) = 17w f(1) =3 99 RS &% 570 T o moae g
(1) 1.5 (2) 1 (3) 2
(44) {Continied
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73. The order and degrée oTMeUmerenvevquaor

4.

5.

96.

L@ G+ =21(x) f(x+2)+4f (x+3)= p(x)

IS !

AT G
LS (x+)=21(x) f(x+2)+4,*(x+3) = p(x)
W ¥9 § UTATEH BN
(1) 3,4 (2) 4,3 (3) 3,7 4)25

if A is forward difference operator and v is backward difference operator,
then (1+A) (1-V) is equivalent to

:ﬁa FTHY ST T § AT I SRR A A W (14 4) (1-V) IGR

(1) AV (2) A-V 3) 0 4) 1

When interval of differencing is 1, the first difference of a junction f(x) is
¢'. Then which of the foliowing is f(x)

T R W FRAE 1% 1w G e f(x) WY IR e ¥ | P & W

f(x)

x+] ...E.:.. .e:l...
(1) e @ e (®) - =
Games which involve more than two players are called
(1) Conflicting games (2) Negotiable games
(3} N-person games (4) Allofthem
a1 foraw 7 & ot faord mins #, s 9@ 2
(TR T @S (2) TGHTHT G
1) N-safh &9 (4) ¥ & aoft

(45) (Turn Over)
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v

98.

In moving avviwge oot e e e rulend U SOME

(1) Middle period (2) Starting periods

(3) Endperiod (4) Starting and end periods
e wes faft 3 o vaft % g0 W i e o

(1) &9 & aafy & (2) W& &

(3) 3@ & JEl (4) ok o & amfu &
Secular trend is indicative of long-term variation towards

(1) Increase only (2) Decrease only

(3) Constant (4) Either increase or decrease
eferefts v T2 wma o TEee W G R

(1) wreht a7 # (2) @t v

(3) @& wH (4) 923 7 TG F

In double sampling plan, if the number of defectives in the lot s in between
the two cut off numbers then

(1) Accept the lot
(2) Reject the lot
(3) Take another sample

(4) Go for inspection of each item of the lot
arferrg A 4, 32 3 gl B wen 2 Rrede semsdt & ne @ @)
(1) &= wiFa whe
(2) T Ipa whe
(3) g wfeest Al
(4) & & yF =g # flam Hif
(46) (Continued)
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100. Each contrast among & treatments has following degrees of freedom
k IR & 9 ¥ wgre A @ S @

(1) (k-1) 2) 1
(3) k @) (k-2)

101, What is the name of following layout ?
= 2 frar A v R 2

> > >
> 0w

(1) CRD (2) RBD
(3) LSD (4) Factorial (agumer)

102. The amount of bias in regression estimator of ¥ may be very high due to
(1) High value of higher order moments

(2) High value of correlation coefficient
(3) High value of regression coefficient

(4) High value of coefficient of variation

7 & g aisers | fima i wrn a5d g & st

(1) 3= urdig Uil % HAl & g 8 W
(2) wEEE V% FT AH G I T
(3) WHHAV OIE F WA WG B T
(4) f=m e &1 AW S9TE ’E W
(47) (Turn Over)
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103. An exhaustive list of all members of the population along with their identifi-
cation particulars is called

(1) Sampling design (2) Sampling frame
(3) Population design (4) Population frame
wAfE % Wit aqen 6 g, 7% opwn Rftreadt & s, @ w0 §
(1) wheet st (2) Wit gl

(3) wfe e (4) wufd

104. Critical region of size a which minimises B amongst ali critical regions of
size a, i5 cailed

(1) Powerful critical region (2) Minimum critical region
(3) Best critical region (4) Unbiased critical region

o AER & Tl Wi & & A9, o IR w wlHE dy @ p & A
%, swxena

(1) wftrme e & (2) fem wf2s &
(3) wataw s &3 (4) smfhva wfae oy

105. In reference to the properties of estimatcrs, choose the coreses Siatements ;
(f)  Corsistznt estimators need not be unbrase..
(i) Unbiased estimators are necessarily consistent.
(iii) Unbiased estimators are unique,

(ivy Consistent estimators are never unique.

(48) (Continued)
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Choose your answer from the fol lowing codes :
(1) (i)and (ii) (2) (i) and (iif)
(3) (i)and(iv) (4) (iii) and (iv)

e % e % weof § wf wu w1 g Hif
() W e v T R sfma 2

(i) e e FawEa: T 8§ |

(iii) I ahers aifgda g £ |

(iv) 1 sses ot ot sldg fi o 8 )

a9 I i a1 § & gfi
(1) (i) 3k (ii) (2) (i) 3R (iii)
(3) (i) 3 (iv) (4) (iii) 3 (iv)

106. If X\, X;,..X, is a random sample from any distribution having finite k-th
moment £ (X'*), the consistent estimator for E (X'*) is

(1) ):. X} 2) %)_“I, x
(3) Both(1)and (2) (4) None of (1) and (2)
R X, X,,.X, , @@ ka3t EX*Y smpl w a@ Bl 9w @ w awfees
yfaed 8, @ £ (XY 1 91F e g
mEx @ 72 X!
(3) (1) 3k (2) 2mi (4) (1)K (2)4 8 = 78
(49) (Turn Over)
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107. If x, and x, are two independent Poisson variates with paramieters A, and
A, respectively, the variable (x, +x,) follows

‘-TiixI :ﬂhxlﬁﬂﬁmﬂ!ﬁmmljmkzﬁﬁﬂt(xj+xz)m
(1) B(A4+4) (2) P(4+4)

3) N(p.o?) (8) Bin, i)

] the probahility of P(¥+ V= 3} ig

m]—

108, If X~ 3{1-}) and ¥~ B[5,

af ,yhg(a,%]am r~-3[ ] 8 Wi PX+ Y= 3) T
\ :

h.,}ll-—l

(1) 716 (2) 732 (3) 11716 () 0

108. If X~ B(n, p), the distribution of ¥=(n-x) is
e X~ B p) R Y=(n -2X) 1 97’

(1) B(n, 1) (2) B(n,x) (3) B(n,p) (4) B(n, ¢)

119, If X¥~N(u,0%. and 72=22% then P(Z!>3)is
7

am X~ Niu oY) ™ Z=£:"—‘:- @ PIZ|>3) B

c

() (2) 0.05 (3) 0 (4} 0.0027

£30) (Continued)
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113, For Peisson disiribution

ARt W &
(5B, =i, (2 B, - 8.-3=9
(3) B, -8B, =1 4)B,-B +1=0

11Z. Poisson distribution P(1) is alweys
(1) positively skewed
(2} negatively skewed
{3) symmetric
(4} negatively skewed only for A > §
@t WA P(h) odE
1y e fees v 4

B N a
HTH B0 ¢

(3) wafa #ar @
(4w A > 59 R woners Rew B g

2] TR

113. X is any continuous random variable having cumulative distribution function
FYv) and £(X) exists; then E(X) can be given as

W |7 n- P @) | [-Fea

3) [T n-Feo+F-x)la @) 7 1= Fix+ F-x)x

X, gl 927 %A Fix), 7@ aen 31 v ;2 ok L) w s ;& B
(1) [ (- Fox (2) f; 0-Fd

3) [ =P+ F-x)ldx @ [0 (- Floy+ Fiox)lde

$1 am Bar o w3

£al) {(7urr Over)
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114. X is a continuous random variable having cummulative distribution function
F(x) and probability density function fx). Which of the following statement/

statements is/are true ?

S: flx) cannot exceed F(x) for any x.
P: fix) cannot exceed one for any x.

Choose your answer from the following codes :

(1) Both Sand P are true.
(2) Both Sand P are false.
(3) Sis true but P is false.
(4) §is false but P is true.

X, oot @27 wed F(x) 3 wfsan o $Od fx) @A T @ Haa aigfeos
v d ) e e/ A AR w7

S fadlt oft x & B Ax), F(x) R it <ff & wo & )
p: it x HRUAx) @Al R wwar

frfafga %2t # & 39 s gRY
(1) S pPFaad|

(2) S3h PaAi @ |

(3) STEEWgPIEAR |

(4) SR Og Pad R |

(32) (Continued)
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115, F_or three attributes 4, B and C, the number of second order class frequen-
cies is .

e oftr st 4, B ik C© % fore, b A o ool € v v
(1) 6 (2) 9 (3) 12 (4) 1§

116. For three attributes 4, B and C, the class frequency (aPy) in terms of other
class frequencies can be expressed as

i i o 4, B 3 C % R ot ameamen (ofy) = ot amoan & v
s W

(1) (4B)+(4C)-(B)- (4BC)
(2) (ABC)-(B)+(AB) - (BC)
(3) (ABC)-(4)-(C)+(B)

4) (B)=-(4B)~(BC)+(4BC)

117. If in case of two attributes 4 and B, the class frequency (48) = 0, the value
of @ is

OF (2) -1
3)0 (4) Any value between 0 and -1

uﬁ@rgwﬂ,n! v B # feufa 4, it aroama (4B) =0, 7@ g5 T, O , #
Lich o '

(i) 1 (2) -1
(3) 0 (4) 03K -1 & g T = TR

(53) (Turn Over)
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118. The relation between Yule's O and coefficient of colligation Y is
A & O, 3R W & w ¥ F 9 gy gm
(1) @'s H1+1) (2) O = 2Y/(1 +Y?)
3) @ = Yi(1+2Y?%) (4) Q = 2¥(1+2y)

119. Given the cell frequencies for two attributes as,
(4B) =90, (aB) = 60, (4B) = 180 and (aB)= 30,

the coefficient of colligation is

Q orat % fore 1 Seawan fi @ |

(48) =90, (aB) =60, (4p) =180 M (ap)=30
79 FAYA F T @
(1) -1 (2) 273 (3) -1/3 (4) 0

120. Gfiven that (4B)= 150, (4B) =250, (aB) =260, (aB) = 2340 ; find the value
of N.

7fe fean |, (AB) =150, (AB) = 250, (aB) =260, () = 2340 & N =1 u ¥

(1) 2000 (2) 2500 (3) 3000 (4) 3500

(34) B-2.000
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(i,

12.

13.

14.

. 9

et & forg Féw

“ sk % v @
v fret % 30 Bae & mﬁi@ﬁ&mﬁmwzswt
L tgﬁm'awgﬁwﬁ"mmmﬁmmw-ﬁﬂmﬁmm{ﬁmﬂ
zatt g YR W A | .
glen waq o m-w#aﬁmmm.mmaﬂimgmmnmﬁ:aﬁ:

Moam, TRT-TF e @ Ry mar @ | ¥R TN WY SN T Y T | T NI
y7-0% TEF AT Aram | W LRI Jw-u% w7 & gearEy e wam |

it SRl saw sTEw-8 @ e /weh @} feffa we o

SRR I, ST U G T I § HCAT HFFAS I W17 7 Fored e fod vt w)
T B | - TS g wg v~ G W A, e WY T AU RE W T e
rurt a7 fovef |

S % HTL, INT-TH W HFHA® A, -y {EaT & 6 WA (917 W ) war ve-
gl Tt JFENIE W7 S HLCRATE Jwr-a% oA ¥} wiateat ¥ sofetaT € swi?
7 21

T afafeal # wif 5t aRm e (G ZT0 SATE FAT WEd S o 7w sgfem
&T8r7 T X@T TR AT |

v yfareT & wriw yer & Wi dwfevs aw R E | onte v & dwfers ywd R
NI LTI, TN~ B} IR Oy & Anrd B2 1 gw w5t IH-07 & vaw gy @
A2 mit frdot & srgere 97 & Ty e

F TE F I ¥ o e @ g0 @ g H | & R A IRt R g w1 W s
uF J9 W S WO G A IR T A AL |

wri ¥ fr v A Qg grw KiEw I0¢ aen @ ow wwa § 1w e et vyr wr aw
77 31 wrgd &, @t weafdm ofes & ared B3 13w gl &1 e oty ¥ 1 9% vv ww
w5 132 wran |

o F e wE-gie g & sem aren T8 awn Iw-yiee ¥ oiftw gu W oy

il

qftent ) Ty F a2 o] A MUK, IA-07 e w8/Te § vy Olas 1 dfe 2
wvrdl WYY WY W QI A9 SRR, FE-a F 9fa o o1 wwa #

soefl Y et A E9 @ Uee qhen wan ® A IR A ity ad anf

af2 w1 sl often # rgfea wvat & wdm e R, ) 9 Rvafroes go ftfa 22 w1/,
arft w /R |
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